CIEO2 spectral tristimulus valuesyyay(A)=1
Zg2,1(N)=A3z1l 02,1A)+Az2M02 1(A)+Az3Mp2 1(A)

Agj 0,000 0,000 1,000 AE440)
2,0 D65:57 g 1(A)=22,56
X02,1=0,3126
YO2,12013289
400 500 600 700

wavelengthA /nm

BE401-3A 1



CIEO2 spectral tristimulus valuesyyay(A)=1
Zg2,1(N)=A3z1l 02,1A)+Az2M02 1(A)+Az3Mp2 1(A)

Agj 0,000 0,000 1,000 AE440)
2,0 D50:57 g 1(A)=17,12
Xo2,1=0,3456
YO2,12013584
400 500 600 700

wavelengthA /nm

BE401-3A 1



CIEO2 spectral tristimulus valuesyyay(A)=1
Z02,1M=Az1l 02,10 +A32M02 1N +A33Mo2,1(A)
Az 0,000 0,000 1,000 AE440)
2,0 P40:37 g 4(\)=13,79
X02,1=0,3799
YO2,12013764

400 500 600 700
wavelengthA /nm

BE401-3A 1



CIEO2 spectral tristimulus valuesyyay(A)=1
Zg2,1(N)=A3z1l 02,1A)+Az2M02 1(A)+Az3Mp2 1(A)

2,01

1,04

400

Agj 0,000 0,000 1,000 AE440)

AQ0:3Z g3 1(\)=7,96
X02,1=0,4474
y02Y1:0,4O73

500 600 700
wavelengthA /nm

BE401-3A 1




CIEO2 spectral tristimulus valuesyyay(A)=1
Zg2,1(N)=A3z1l 02,1A)+Az2M02 1(A)+Az3Mp2 1(A)

Agj 0,000 0,000 1,000 AE440)
2,9 E00:37 g 1(A)=21,37
X02'1=0,3332
YO2,12013332
400 500 600 700

wavelengthA /nm

BE401-3A 1



CIEO2 spectral tristimulus valuesyyay(A)=1
Zg2,1(N)=A3z1l 02,1A)+Az2M02 1(A)+Az3Mp2 1(A)

Agj 0,000 0,000 1,000 AE440)
C00:3Z g 1(N)=23,82
X02,/=0,3100
YO2,12013161
400 500 600 700

wavelengthA /nm

BE401-3A 1



CIEO2 spectral tristimulus valuesyyay(A)=1
Zg2,1(N)=A3z1l 02,1A)+Az2M02 1(A)+Az3Mp2 1(A)
Az 0,000 0,000 1,000 AE440)
2,0 P00:37 g 4(\)=17,48
X02'1=0,3604
YO2,12013531

400 500 600 700
wavelengthA /nm

BE401-3A 1



CIEO2 spectral tristimulus valuesyyay(A)=1
Zg2,1(N)=A3z1l 02,1A)+Az2M02 1(A)+Az3Mp2 1(A)

0,000 0,000 1,000 AEs440)
Q0037 g5 1(\)=26,19
X02'1=0,3070
YO2,12013106
400 500 600 700

wavelengthA /nm

BE401-3A 1



